Find "a", "r", and "t," for the following sequence!
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http://home.alltel.net/okrebs/page131.html

Rrithmetic Sexies

Series: The sum of the terms of a sequence. The
sum 1s usually finite: 1+2+3+4+5. However

it could be infinite: 2+4+8+16+... You can
find the sum of many finite series and certain
types of infinite series by using formulas.
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http://www.ucl.ac.uk/mathematics/geomath/level2/series/ser2.html

Find the sum of the first 100 terms of the
arithmetic series 1+4+7+10+...

a=1
d:tz-t1:3
n=100

S = 3(20 +(n—-1)d)
See = 100 (30)+ (00-)3))

= N ('B-t- oﬁ(%))
- 5 (+71)
= 56 (31)

= 14930 \




Find the sum of the following series

3
l+l+—+2....+20
2 2

Hint: How many terms are there?
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How many terms are 1n the series:
3+8+13+...4248 1f 1its sum 15 62757

6= 0 (3 +341)
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Find the indicated sums of the following
series:

S5 of 2+6+10....

- S!\= %(&1 -\-(‘\‘NB
TL S 560 G0)

Sk - %(4 + H0D)
Se= _\%('-} +%)

Ss= .\_3_(603
S\5= Ll‘:[)

S,, of -15-10-5+...

0= Sw= §<ac-s>+<ams>>
-2 = 10(30 + BES)

= 100+ 35)
= 10 (55)
= 650\




Homework
#1-7
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